Inlet covers TE10C

Inlet cover L.S. TE10C with compensator
Interface IBW1033 - IBW0511 - TE10P

Before use, carefully read the GENERAL INSTRUCTIONS FOR USE OF DIRECTIONAL
CONTROL VALVES

BONDIOLI 398SBWO079ENOO - 25-01-2018 1
& PAVESI E‘]



Technical data

; 120 I/min
Nominal flow 31.7 US gpm

. 250 bar
Nominal pressure 3625 psi

. 50 bar
Maximum tank pressure 725 psi

Temperature range

-20°C +85°C NBR seals
(max peak +100°C)
-20°C + 130°C HNBR seals

- LS1
o . from 15 mm2/s to 90 mm?/s
Qil viscosity (15 ¢St to 90 cSt)
P1
Fluid Hydraulic fluids as defined
in ISO 6743-4 standard
Weight 32
Interface !|'B|E‘I1v3333 - IBW0511 -
T1
P T ;
Dimensions
65[2.56] 127.5[5.02] 78.5[3.09] 23.5[0.93]
32.5[1.28] 32.5[1.28] 51[2.01] 41.5[1.63]
£ = LS1 T
= =] O L ]
= % = ° P1 §
NI o 2
5 ¢ = Nk
2 — T1 &,
3 3 - T 8 5
e - - ol 2
T % ] % o 5
= N
[te} <
~ — o}
¥ &
& 69.5[2.74] 32.5[1.28]
¥ 5 N
5 5 s
0| o L&
S %5 i

398SBWO079ENQO - 25-01-2018

ZoMRIeY 19)
__DINOIL |



Flow curve TE10C

Head losses P-T

____ To=50°C
VoL = 21 mm?/s |

7777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777

0 20 40 60 80 100 120
[I/min]

BONDIOLI 398SBWO079ENOO - 25-01-2018 3
& PAVESI I':.]



TE10C Left side interface

| N |None IBW1033

LS1 ﬁ
—— -

LS1 [ﬁ] LS1
'=' o @
Y ATA / ATA
AN AN

4 398SBWO079ENOO - 25-01-2018 BONDIOLI I_g
& PAVESI



Right side interface TE10C

| N |None IBW1033

[ﬁ] LS2
\

| D |IBW0511
[ﬁ] Ls2
P —
O W/ \\\
T
L

BONDIOLI 398SBWO079ENOO - 25-01-2018
& PAVESI I':.]



Bracket height

41[1.61]

@ None

23.5[0.93]

P
/
T
/

398SBWO079ENQO - 25-01-2018

ZoMRIeY 19)
__DINOIL |



Ports thread TE10C
Thread Port P Thread Port T
Model Type T%%Je Model Type T?\Ec#‘Je
1/2" GAS I1SO 1179 70 1/2" GAS ISO 1179 70
E 3/4" GAS ISO 1179 140 E 3/4" GAS ISO 1179 140
@ M22x1.5 ISO 9974 78 @ M22x1.5 ISO 9974 78
M22x1.5 1SO 6149 78 M22x1.5 1SO 6149 78
E M27x2 1SO 9974 170 E M27x2 1SO 9974 170
@ M27x2 1SO 6149 170 @ M27x2 1SO 6149 170
@ 7/8'" - 14 SAE 1SO 11926 77 E 7/8'" - 14 SAE 1SO 11926 77
1"1/16 12 SAE ISO 125 171/16 12 SAE ISO 195
Thread Port LS/LS+
Model Type T%clq#e
1/4" GAS I1SO 1179 14
E M14x1.5 1SO 9974 10
E M14x1.5 1SO 6149 10
E 9/16'" - 18 SAE ISO 11926 21

BONDIOLI
& PAVESI

o)

398SBWO079ENQO - 25-01-2018



Main compensator

TE10C

Centre Open - Fixed pump

76.5[3.01]
5[0.2]

51[2.01]
46[1.81]

14&

,//4 .....
¢J

‘)

/‘

[L2H]Ser XYN - [142]G°Es P/

65[2.56]

32.5[1.28]

(/]
-l

32.5[1.28]

[6279]G2LL XY

Centre Closed - Load sensing Pump

ﬁ\““L
| =
| Wg%
| r“%(p
Gl===== IS S Jﬁlr\\\ “
| vT |
b -
H
— o
o - =
2 & _.ﬁ
S
@ | = I
o 85)
S| S ©
N~ o R
ol 5 — s
s 2 g
By H
[ze'L]gee Lrzlees M /
B
-, (/7]
© - |
o
(s2)
oy
]
P = +
8 | |
o
g
N
Y [7'9]5 2ok
Al
(a5]

ZoMRIeY 19)

398SBWO079ENQO - 25-01-2018



Options for main compensator TE10C

E Standard With handwheel

127.5[5.02] o 127.5[5.02]
= 46[1.81] 5(0.2] § 46[1.81] 5[0.2]
< LS1 g LS1
=
= P1 T P1
e T1 8 T1
| _—= LA
BONDIOLI I_:.] 398SBWO079ENOO - 25-01-2018 9
& PAVESI



Options on line LS+

Booster valve version
65[2.56] 132[5.2] LS+ : LE
15.5[0.61] 26[1.02] 38[1.5] 22.5[0.89] ] i
235[093] @ |
\J,,,,A‘L ,,,,,,
P f B
. i & Ls1
o
= LS+ e
i
-_. n ) T ™
Fixed calibration booster valve
65[2.56] 132[5.2] LS+ ; LE
15.5[0.61] 26[1.02] 38[1.5] 22.5[0.89] - i
23.5[0.93] &DJ l
\J,,,,A‘L ,,,,,,
P f i
= E i & Ls1
= LS+ e
i
_________ u L — T1
Adjustable calibration booster valve
65[2.56] 132[5.2] =55 : Lot
15.5[0.61] 26[1.02] 38[1.5] 22.5[0.89] . i
. 23.5[0.93] M:}‘ |
®© | - \47777% 777777
o ] P 2 i X
% 'S L % i & Ls1
= LS+ e
i
-. u ) T ™
10 398SBW079ENOO - 25-01-2018 BONDIOLI I_i]
& PAVESI



Pressure gauge inlets TE10C

MP and MT - Pressure gauge inlets

Thread Port MP and MT

Torque
Model Type e
@ No processing
1/4" GAS ISO 1179 14

M14x1.5 1ISO 9974 10

EX
E M14x1.5 1ISO 6149 10
P

9/16" - 18 SAE ISO 11926 21

BONDIOLI 398SBWO079ENOO - 25-01-2018 11
& PAVESI I':.]



LS line unloading pilot valve type

m Compensated orifice

65(2.56]
32.5[1.28] 32.5[1.28]
) LS
2| s, |~
@) 5
ol |y @>
N Z T
N S|
2 <
T CHE

127.5[5.02]
51[2.01] 76.5[3.01]

Compensated orifice ON-OFF

65[2.56]
32.5[1.28] 32.5[1.28]
) LS
R o L
9 8
ol oy @>
RZ| 2
~— 2 [E—
2 <
| HE

@ Replacement plug

MAX 172.5[6.79]

65[2.56]

LS

LS1

P1

T1
= |

‘o'
©
£
S
(5]
‘[l
6/
MAX 139.5 [5.49]
51[2.01] MAX 88.5[3.48]
N
LT s,
| —
N~ —
23
1Wi é -
ey
; (<]
,e,
O
© ©
120[4.72]
51[2.01] 69[2.72]

T _
LS_
T
|
|
|
|
|
S
‘ \
| L
‘ [
| L
|
=T
| - 5
L. | =l
@, T —1\
s
|
|-
|
=1
T _
LS

******

LS1
P1

T

LS1
P1

T

LS1
P1

T

12

398SBWO079ENQO - 25-01-2018

BONDIOLI
& PAVESI



LS line unloading pilot valve type

@ With unloading pilot valve

65[2.56 165[6.5] LS.
32.5[1.28] 32.5[1.28] 51[2.01] 114[4.49] i
|
|
LS1 %{""*7 |
— - |
8 Ls a
2 & P.' } L LS1
S| 8 - 1 ey
0| < g o :
- 1
o 25 T4 |
= 7\
I\
= T
BONDIOLI 398SBWO079ENOO - 25-01-2018 13

& PAVESI

o)



LS line emergency unloading pilot valve

@ Standard terminal

53.5[2.11]

| S | Emergency screw

MAX 59.9[2.36]

14

398SBWO079ENOO - 25-01-2018 BONDIOLI
& PAVESI I'g



LS line emergency unloading pilot valve TE10C

BONDIOLI |_:.] 398SBWO079ENOO - 25-01-2018 15
& PAVESI



Ordering instructions

1 2 3 4 5 6 11 8 9 10 11 12 13 14 15 16
1 Left side interface
N None B I1BW1033 D IBW0511 F TE10P
) Right side interface
N None B I1BW1033 D IBWO0511
3 4 Bracket height
H3 High NN None
5 Thread type
F Female M Male
6 Thread Port P
B 1/2" GASISO 1179 N M22x1.51S0 9974 5 M27x2 I1SO 9974 R 7/8"-14 SAEISO 11926
F 3/4" GASISO 1179 J M22x1.51S0 6149 U M27x21SO 6149 V 1"1/16-12 SAEISO 11926
11 Thread Port T
B 1/2" GASISO 1179 N M22x1.51S0 9974 5 M27x21S0 9974 R 7/8"-14 SAEISO 11926
F 3/4" GASISO 1179 J M22x1.51S0 6149 U M27x21SO 6149 V 1"1/16-12 SAEISO 11926
8 Thread Port LS/LS+
L 1/4" GASISO 1179 3 M14x1.51S0 9974 K M14x1.51S0 6149 P 9/16" - 18 SAE ISO 11926
9 Options on port P-T-LS
A P-T-LS open C P open, T-LS plugged E P-LS plugged, T open G T-LS open, P plugged
B P-T open, LS plugged D P-LS open, T plugged F P-T plugged, LS open H P-T-LS plugged
10 Options for main compensator
A Standard B With handwheel
11 Options on line LS+
] N None A Booster valve version B Egisg calibration booster c ﬁgglsstte%b\}glsglibration
12 13 Booster valve calibration
NN None 15 15 bar 30 30 bar
05 5 bar 20 20 bar 35 35 bar
10 10 bar 25 25 bar 40 40 bar
14 Port LS+ options
N None A Open B Plugged
16 398SBWO079ENOO - 25-01-2018 BONDIOLI

o)

& PAVESI



Ordering instructions TE10C

17 18 19 20 21 22
15 Thread Port MP
N None 3 M14x1.51S0 9974 P 9/16" - 18 SAE ISO 11926
L 1/4" GASISO 1179 K M14x1.51S0 6149
16 Thread Port MT
N None 3 M14x1.51S0 9974 P 9/16" - 18 SAE ISO 11926
L 1/4" GASISO 1179 K M14x1.51S0 6149
17 Options on Ports MP - MT
N None C MP not processed, MTopen F MP and MT plugged
A MP open, MT not processed D Mﬁg%%t rocessed, MT G MP open, MT plugged
B M’;C%ggggd’ MT not E MP and MT open H MP plugged, MT open
18 LS line unloading pilot valve type
I Compensated orifice N Replacement plug B 24V DIN 43650 H 24V Deutsch
L §Rmpepsated orifice A 12V DIN 43650 G 12V Deutsch
19 LS line emergency unloading pilot valve
N None O Standard terminal S Emergency screw
20 21 Maximum pressure valve type
00 VMP replacement plug 10 100 bar 16 160 bar 22 220 bar
05 50 bar 11 110 bar 17 170 bar 23 230 bar
06 60 bar 12 120 bar 18 180 bar 24 240 bar
07 70 bar 13 130 bar 19 190 bar 25 250 bar
08 80 bar 14 140 bar 20 200 bar
09 90 bar 15 150 bar 21 210 bar
20 External coating

|:| A External coating N None

BONDIOLI I_:.] 398SBWO079ENOO - 25-01-2018 17
& PAVESI



